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If equal volumes of 0.1 M NaOH and
0.1 M HCI are mixed, the resulting
solution will contain a salt and
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The [H;0+] of a solution is 1 x 10°8.
This solution has a pH of

Which compound is least soluble
in 100 grams of water at 40°C?
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concentration of 1.0 x 103 M?
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o What happens when NaCl(s) is dissolved e If equal volumes of 0.1 M NaOH and
in water? 0.1 M HCI are mixed, the resulting
A CI-ions are attracted to the oxygen solution will contain a salt and
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e The [H;0+] of a solution is 1 x 10°8. o Which compound is least soluble
This solution has a pH of in 100 grams of water at 40°C?
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